A BIT OF MATHS EACH DAY — FOUNDATION PLUS TIER — SEPTEMBER 2018

st 2ND
The best way to learn mathematics is to DO mathematics. @ Y
% % m %T If you do something regularly on a daily basis you will make a bigger difference than _'5 _'4 _13 _ _‘1 (') ; D i T
If Ieodvil’]ngl lTT:_I]” just before y(?ur Texc;ms.‘d t (a) Write down the inequality shown by the number line
yOu nee elp there are some rantastic viadeos a (b) Solve the inequality 4x — 2 > 2x - 7
I I www.corbettmaths.com (c) Write down all the integer values which satisfy BOTH the
@ @U | @%@T Or you can always tweet me @mrchadburn inequalities in parts (a) and (b)
3RD 4™ BTH 6™ 7™ 8™ | QmH
From this list of numbers...
A bicycle wheel has a 2,5,8,10, 16, 20, 27, 64 =T =T = Toilet rolls come in two different
. i i Our Brand ities i i
Make m the subject of the . diameter of 68cm. Wntg down... A triangle has an area of Solve the equations = quon’n’rlesklnto particular
formula Siobhan goes on a 10km (a) A prime number 76cm? () 5(3x—2) = 2x + 3 e e supermarket.
2 bicycle ride. (b) A factor of 10 . 5 _ o Which is the better value?
3m* -5 : . - It has a base of 16cm. (b) 7x2-13 =99 . )
r=— How many revolutions will her (c) A multiple of 9 What is ifs height? () X2+ 9x-36=0 Give mathematical reasons for
n wheels perform during the (d) A triangular number gnte Tailet rolls Toilet rolls your decision.
journey? (e) A number which is both £3.99
square and cube
10™ 11™ 12 13™ 14™ 15™ 16™
. 11,15,19,23,27, ...
Without the use of a i i (a) Round 49523 to the ! 10cm
a) Write 0.000907 in standard i
calculator, work out the 1£or)m nearest 1000 r(w(:J)mV\érgre; i?wot\liris ggeun::ls The diagram shows a
(a) Increase £250 by 23% | answer fo: (b) Write 5.821 x 10% as (b) Round 2.9495 to 2 decimal . g o frapezium with semicircles
2 3 : (b) What is the nth term for this removed.
(b) Decrease £400 by 19% (a)55-25 normal number places sequence? Find the area of the shaded
(c) Find 23 as a percentage 3 4 (4.1x1072)x(3.8x10%) (c) Round 0.0803 to 2 T s that 137 & - e
of 40 (b) 2 +15 (c) Bvaluate == significant figures () gny _soyhs. at1371s a region giving your answer
Give your answers as mixed | 9iving :f“r;”_“" answer (d) Round 153420 fo 2 ;‘g;‘; Cegr'rr;l IS Sfx%?ﬁﬂcy%u'f | W corect fo 4significant figures.
correct to 3 significant figures. ianifi ; ¢ S S
numbers. 9 9 significant figure reasoning. 3cm 10cm 3cm
‘| 7TH ‘| 8TH ‘| 9TH 20TH 2‘| ST 22ND 23RD
o Abag Confgins 3red Arectangle and an equilateral
counters, 2 white counters triangle have the same
. —— " and 1 blue counter. perimeter. Find the values of the angles A, B and C.
Seolxitfigissmulfoneous ((?)t))s'g?:“gr;’g ;(45)21(82)? Frankie takes a counter out of | The longest side of the rectangle Give full geometric reasons for each.
9 5x — 3y = 26 A ] (c) Expand and simplify full the bag, notes its colour then is 5cm longer than the shortest N
3x + Z/ =4 Jane says that the fourth P (X + 9) (x = 7)p yuly replaces it. She then takes sid.e. The_side of the equilateral
Y angle of this quadrilateral is another counter from the friangle is double the shorfest
124°. s she correct? Explain bag. What s the probabilty | side of the rectangle. findthe |7
your reasoning. that both counters are red? area of the rectangle. Sz
24™ 25™ 26™ 27™ 28™ 29™ 30™
Annette is going fo Mexico on A baker sells 3 types of bread .
holiday. The exchange rate is — granary, wholemeal and Thg dlggrom shows the plan of a garden
£1 =22 pesos. . white. A granary loaf costs Adam, Belinda and Chris . . o W.h'Ch is the shape 9f the qu_cdrcmlf ofa
she changes up fo £400info pesos | o\ " - 5L S L oaf £1.15 share money in the (a) What is the reciprocal of A cuboid is 12cm by 15cm by circle. The garden is to be filled with
but wants only 50 peso notes. and « white loaf £1.10. atio7 3 6 6.052 18cm. gravel. A bag of gravel costs £6.99
gg‘)eHZYfgqri%gg peso notes can o e e boker.sells Chris aets £1 3<2 rr.wo.re than (b) Evaluate 122-V336 vin Its density is 12.4g/cm3. excluding VAT and covers 2.5m?2.
h 9 + ith 11 h Y ¢ . Ve 9VINg What is the mass of the There is an offer on which gives 15% off
She returns with 1105 pesos. She 160 loaves. 20% of them are Belinda. B ) .
h back t your answer correct to 3 cuboid? Give your answer in before the VAT has been added.
can exchange pesos back 1o granary. The baker sells £74.80 How much does Adam ignificant fi ’ i
pounds at the rate of £1 = 19.5 . - significant figures. kilograms. —————, Howmuch will it cost to gravel the
worth of white loaves. How receive? 6.4m .
pesos. ) hd the baker take in : garden with the offer and after VAT at
(b) How many pounds will she much does Tthe baker Take 20% has been added?
receive back? total?
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